Here we have six resistors, and we want to find their values and tolerances based on their color codes.
We will report our results using engineer prefix notation.

So we want to find Ω, kΩ, or MΩ.

Get a resistor color code chart. This one works for “4 band” resistors.

To use the chart, look up a color on a band and its numerical value, starting from the left.

The third band is the exponent on our power of ten.

So we have 1200 Ω, or 1.2 kΩ.

It’s common to write kΩ as K.

The tolerance band is either gold or silver.

Our band is gold, so the value will be 1.2 K ± 5%.

Try the next one.

The first two numbers are 5 and 6.

Our exponent is 4, so we write four zeroes.

That gives 560,000 Ω or 560 K.

The gold band says that it is a 5% device.

For the third band, white gives the number 9. Brow is one, and our exponent is one.

That gives 910 Ω.

The silver band tells that we have a 10% tolerance resistor.

For the next resistor, the first two numbers are 3 and 6.

The exponent is 5, so we have 3,600,000 Ω or 360 K.

So we have 3.6 MΩ at a 10% tolerance.

In our fifth resistor, we the first two numbers are 2 and 7.

The exponent is 0. 10^0 is 1, so we have 27 Ω in this case.

Our tolerance is 5%.

For the last resistor, our two numerals are 10, and our exponent is 3.

So we have a 10K resistor at 10% tolerance.

Round numbers like 10 and 100 are common in lab situations, so you’ll find that the brown and black resistors are used often.

